Multiplying Three Mon/Polynomials (A)

DO

Ot

Simplify each expression.

- (3p* — 6p — 8)(—4p” + 4p* + 3p”)(8p* — 6p + 1)

(7t + 3t) (9t + 5t) (287 — Tt)

(=921 —22% — 32%)(—52° — 21 — 723 (=52 +9)

- Twt(—=9w? — 8w)(w — 2)

(=95 + 1)(—65" + 85*) (75" — 85?)
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Multiplying Three Mon/Polynomials (A) Answers

Ot

Simplify each expression.

- (3p* — 6p — 8)(—4p” + 4p* + 3p”)(8p* — 6p + 1)

— —96p” + 360p° — 92p" — 466p° + 125p° + 94p* — 24p°

(7% + 3t) (9t + 5t) (2% — Tt)
— 1265 — 317t° — 404¢* — 105¢3

(—92* — 223 — 32%)(—52° — 2* — 72%) (=52 +9)
= —9225210 4+ 3102”7 — 2292% + 63527 + 4825 + 18927

- Twt(—9w? — 8w)(w — 2)

= —63w’ + 70w’ + 112uw°

(=95 + 1)(—65" + 8s%)(7s* — 85%)

— 37850 — 9785 + 680s° — 645"
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Multiplying Three Mon/Polynomials (B)

Ot

Simplify each expression.

- =32 (2 — 91 — 9)(—T72* + 52)

- 3a*(—2d° — o' — 4a®)(—2a* + 4a + 2)

3. —8th(—6t% —t + 2)(4t* + 61)

7ot (—a* — 92%)(82° + 32* — 82%)

-~ —4m*(9m + 2)(5m® — Tm*)
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Multiplying Three Mon/Polynomials (B) Answers

[\

Ut

Simplify each expression.

- =32 (2 — 91 — 9)(—T72* + 52)

— 212% — 204x" — 542° + 1352°

3a*(—2a° — a* — 4a®)(—2a + 4a + 2)
= 12a" — 180" — 54a® — 244"

—8t*(—6t* —t + 2)(4t* + 6t)
— 192¢% + 320t" — 16t° — 96¢°

7ot (=2t — 92%)(82° + 32" — 827)
— 562 — 525212 — 1332 + 5042

—4m*(9m 4 2)(5m® — Tm*)
= —180m'" + 212m° + 56m°
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Multiplying Three Mon/Polynomials (C)

DO

Ot

Simplify each expression.

(=7d? + 5d* — 7d)(—9d* + 8d*)(8d* — 9d)

(5p° — 4p* + 5p°) (Tp° — 4p* + 3p°)(—p” + 8p” + Tp)

C2mt +m3 + m?)(Tm? + 2m — 3)(—5m + 2)

(=Tc—9)(=6¢® + 3¢ — ¢)(—9¢c — 9)

(=60 — 20" + 30°) (=5v° — Tvt — 8v%) (50° + 9v? — 50)
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Multiplying Three Mon/Polynomials (C) Answers

[}

Ot

Simplify each expression.

(=7d3 + 5d® — 7d)(—9d" + 8%)(8d* — 9d)
= 504d” — 1375d® + 1733d" — 1375d° + 504d°

- (5p° — 4p* + 5p°)(Tp° — 4p* + 3p”) (—p” + 8p° + Tp)
= —35p™? 4 328p* — 205p™ + 224p'Y + 191p° — 104p® + 105p”

- (2m* +m® 4+ m?)(Tm® + 2m — 3)(—=5m + 2)
= —70m" — 27m® + Tm’ + 11m* + 13m?® — 6m?

(=Tc—9)(=6¢® + 3¢ — ¢)(—9c — 9)
= —378¢ — 675¢* — 117¢% + 99¢% — 81¢

(=60 — 2v* + 30°)(=50° — Tvt — 8u%) (50° + 9v? — 50)
= 1500 + 5300'? + 5530 + 138010 — 4000° — 1910° + 12007
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Multiplying Three Mon /Polynomials (D)

Ot

Simplify each expression.

- (—6p° + 9p* + 4p)(6p* — 3p°)(9p” — 8p* — 8p)

—9y(—2y* — 9y* — 2y)(6y* — 53°)

3. k3(8k® — 5E*)(9K® 4 6k* — 6k)

—2d*(—9d* — 6d°)(4d® + d + 4)

=5 (s* 4+ 95 — 45?) (s + 45 + 2)
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Multiplying Three Mon/Polynomials (D) Answers

ot

Simplify each expression.

- (—6p° + 9p* + 4p)(6p* — 3p°)(9p” — 8p* — 8p)

— —324p'% + 936p° — 315p° — 660p" + 120p° + 96p°

=9y(—2y" — 9y° — 2y)(6y" — 5y”)

= 108y® + 396y" — 297y5 — 90¢°

k3(8k° — 5E%) (9K 4 6k* — 6k)
= 72k™ 4+ 3k — 78KkY + 3048

- —2d*(—9d* — 6d°)(4d* + d + 4)

= 72d® + 66d" + 84d°® + 48d°

5% (st 955 — 457) (5% + 45 + 2)

= —1s% — 135" — 34s% — 25° + 8s*
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Multiplying Three Mon/Polynomials (E)

DO

Ot

Simplify each expression.

(=3p” + 6p* + p*)(—9p” + 5p” — p)(4p” + 5p7)

(—8p" — 2p® — 3p®)(5p° + Tp* + 6p)(—2p* — 4p)

(9h + 8)(9h? — h — 8)(—6h* 4 4h?)

~(2h* 4 4h)(—5h* + 6h — 1)(2h° + 5h* — Th?)

- 20% (=60 — 3v)(=5v* + 6v + 7)
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Multiplying Three Mon/Polynomials (E) Answers

)

w

ot

Simplify each expression.

(=3p” + 6p* + p*)(—9p” + 5p” — p)(4p° + 5p7)
= 108p'! — 141p'° — 249p" + 116p° — 9™ — 5p°

(=8p" —2p° = 3p*)(5p” + Tp* + 6p) (—2p” — 4p)
= 80p° + 292p° + 418p" + 374p° + 168p° + 72p*

(9h + 8)(9h* — h — 8)(—6h* + 4h?)
= —486h" — 54h° + 732h° + 64h* — 25613

- (2h? + 4h)(—5h* + 6k — 1)(2h° + 5h* — Th?)
= —20h° — 66h° + T4h" + 15805 — 174h° + 281h*

- 20% (=60 — 3v)(—5v* + 6v + 7)
— 600°% — 420° — 1200* — 4203
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Multiplying Three Mon/Polynomials (F)

DO

Ot

Simplify each expression.

- (—5® —85% +35)(9s* + 57 — 35%)(—9s + 8)

(5P — T2+ 3t) (7 — 3t3)(3t* — 6t°)

(=9n° + 3n")(Tn® + n?)(—3n° —n?)

(Tw — 7)(4w* + 6w® — Tw?)(Sw* — 5uw?)

(357 —

25)(5s” — 75" + 75°) (85" + 757)
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Multiplying Three Mon/Polynomials (F') Answers

[\

w

Ut

Simplify each expression.

(—5® —85% +35)(9s* + 5* — 35%)(—9s + 8)
— 81s% + 58557 — 7825 — 675" + 297s* — 7257

(587 — Tt 4 3t) (1P — 3t%)(3t* — 617)
— — 1560 + 6¢° + 102¢% — 135¢7 + 54¢°

(=9n° + 3n")(Tn® + n?)(—3n° —n?)
— 1890 + 27012 — 21p!t — 310

(Tw = 7) (4w + 6w’ — Tw?)(Bw* — 5uw’)
— 224w” — 28uw® — 798w " + 847w" — 245w°

(357 — 25)(5s” — Ts* 4+ 75%)(85% + 757)
— 120s' — 1435” + 635° 4 13357 — 9840
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Multiplying Three Mon/Polynomials (G)

DO

Ot

Simplify each expression.

1. 6p*(—2p” + 5p%)(8p° + 4p" + 3p?)

At (—dr® — 5ty (—rt — 8% 4 3r?)

- (—85° + 95 (55! 4 45% — 25%) (=35 — )

(=26 4+ 4 8¢)(8¢2 — 8c + 1) (—2¢* — 3¢7)

(6w? — 8w?)(—4w? + 3w® — w?) (—4w’® — w?)
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Multiplying Three Mon/Polynomials (G) Answers

[}

w

Ot

Simplify each expression.

- 6p*(—2p” + 5p°) (8p° + 4p* + 3p?)
= —96p'Y + 192p” + 84p° + 90p"

. —47’4(—47“5 - 57"4)(—7°4 — 8 + 37’2)
= —16r"° — 148¢"* — 112r"" + 607"

(=85 +95")(5s" + 45” — 257)(—35 — 5)
— 12050 1+ 1615° — 2215 — 2065" + 90s°

(=2¢% + & +8¢) (8¢ — 8 + 1)(—2¢" — 3¢7)
— 32¢° — 180¢” — 368 + 173¢° — 24¢*

(6w? — 8w?)(—dw? + 3uw? — w?)(—4w® — w?)
= 96w™ — 176w + 70w" — 2w' — 8w”
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Multiplying Three Mon/Polynomials (H)

Ot

Simplify each expression.

(B =5 fN(—=9f* +8f — 1)(=3f* +4f +5)

(—37“4 + 33 — 77“2)(77“4 — 43 — 77“2)(—47“2 —6r+4)

3. —T72%(82% 4 82 + 9)(—92° — 3% — 21)

(30 + 8b) (20" + 1) (—b* — Tb* + 4b)

- —T75°(—25" — 35" + 55%)(—4s” — 95! — 85%)
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Multiplying Three Mon/Polynomials (H) Answers

(&g

Simplify each expression.

(B =5 fN(—=9f* +8f — 1)(=3f* +4f +5)

= 81f% —315f% + 270" + 158 f° — 195f° + 2514

(=3r* + 3r° — 7r?)(Tr* — 4r® — Tr?)(—4r® — 6r + 4)
— 84710 — 677 — 1221 + 344r" — 3987% — 2661° + 1967

—7a?(82% + 8x + 9)(—92° — 32% — 22)
= 504" + 6722°% + 8472° + 301z* + 1262°

- (30% 4 8b)(2b* 4 1) (—b* — Tb® + 4b%)

— —6b'0 — 6107 — 1178° + 2007 + 32°

C—75°(—25" — 35" + 55%)(—45" — 95 — 85%)

— 565 — 2105 — 161" + 147s'2 + 2805
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Multiplying Three Mon/Polynomials (I)

DO

W

Ot

Simplify each expression.

(=5¢* — ¢ —9)(—=7c* — 3¢ — 5)(—3¢c* — 2¢% + 9¢)

- (5p° + 8p* + 7p7) (= Tp" — 4p® + 5p?) (8p” + 4p)

—9p*(9p* — 3p® — 6p*)(—p° — 4p*)

9t (—2b + 7)(—5b* 4 8b*)

(—=4h* — 9h)(—9h° + 5h* — 6h°)(8h* + 3h3 — 2h?)
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Multiplying Three Mon/Polynomials (I) Answers

)

w

t

Simplify each expression.

(=5¢% — ¢ —9)(—=T7¢* — 3¢ — 5)(—3¢* — 2¢* + 9¢)
= —105¢" — 1365 — 2¢° — 80c* + 620 + 198¢% + 405¢

- (5p° + 8p* 4+ 7p”) (= Tp* — 4p° + 5p*) (8p” + 4p) }
— —280p'! — 748p"" — 752p” — 128p° 4 328p" + 140p°

- =9p*(9p" — 3p® — 6p”) (—p° — 4p")
— 81p'% + 297p!'! — 162p'° — 216p°

9t (—2b + 7)(—5b* 4 8b%)
— 900? — 459b% + 504b°

(—4h* — 9h)(—9h® + 5h* — 6R%)(8h* + 3h* — 2h?)
— 288K + 59641 — 57hY + 247h® + 204h" — 108A°
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Multiplying Three Mon/Polynomials (J)

DO

Ot

Simplify each expression.

(=% = 62)(—22° — 22" — 22%) (52 — Tat + 427)

- (5¢° +2¢° — 9)(49" — ¢°) (99" — 5¢°)

(—9h* — 4h® 4 8h*)(—5h° + 3h* 4+ 2h%)(=3h* + 2h* — h?)

(=72 + 227 4 52)(92° — 92t + 827) (52 — 4z — 3)

- (2a* + 9a* — 7a*)(8a® + 6a*)(—9a’ + 3a*)
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Multiplying Three Mon/Polynomials (J) Answers

[}

(@

Simplify each expression.

(=% = 62)(—22° — 22" — 22%) (52 — Tat + 42°)
= 1022 + 562" — 202! + 1827 — 282° + 4827

(59° +2¢° — 9) (49" — ¢*)(—99° — 54%)
= —180¢'" — 127¢° + 39¢° + 21¢" — 5¢°

(=9n* — 4n® + 8h?)(=5h° + 3h* + 2h%)(=3h" 4 2k — h?)
= —135h" + 11142 + 1514 — 181R"Y + 541° + 16R° — 1647

(=72% 4+ 227 4 52)(92° — 92 4 823)(5r? — 4x — 3)
— 31520 + 6572 — 2802° — 27227 + 4032% — 732° — 120"

- (2a* + 9a* — 7a*)(8a® + 6a*)(—9a’ + 3a*)
= —144a"? — 708a* + 270a'" + 372a° — 126a°
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